Founded 1885

ASSESSMENT TASK 1

YEAR 8
MATHEMATICS

2006
55 MINUTES
50 Marks

INSTRUCTIONS

+ There 2 Sections

« Section 1 (Number) Is warth 20 marks

« Saction 2 (Measurement) is worth 30 marks

Approved calculators may be used In all parts of the test
« Attempt all questions

. Enter your name and class on sach page

|

Name

G_laszs,i

SECTION 1 - NUMBER (20 marks)

Show all necessary workmg in the space provided.

,-"ﬁ%'#W

1. Convert to decimals: 3. Convert to percentages:
(a) 37% [1mark] (a) 0.32 B [1mark]
—Lf
®) 12:% fmarkt | ) = % [tmark]
4 50 .
P
!
© & [1mark] (‘c) 2.35 _[1mark]
37 )
5. Convert to fractions: 4. Decrease $450 by 30%. [1 mark]
{Answer In simplest form) /
(a) 48% [imark] . i
§
- i
Fo
(b) zo%% [1mark]
5. What percentage Is 42 kg of 48 kg?
1 mark] .
(c) 32.15% [tmark] . \
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5. Rewrite the foilowing thrae values in 7.

ascending order (smallest to biggest):
[1 mark]

752%, 0725 _?;

6. The followlng table shows the

—l

Name:

Class:

Sean scored 15% of his team’s runs
in a cricket match. If he scored 45
runs how many runs did the team
score?:[2 marks]

—en

j‘—*—v R

breakdown of students in a middle
school consisting of 200 students:

- 3.
coe |
{a) What percentage of the middle )
schaool students are boys? {2-marks]
{b) What percentage of the iniddie school
i are Year 8 students? [2 marks]
[
]
i *
Page 2 of &

Mértin bought a car which cost
$5000. After doing some work on the
car he then sold it for $6125. What

_ was Martin's profit as a percentage of

the cost price? [2 marks]

!

Name:i

————

Class:

SECTION 2 - MEASUREMENT (30 marks)

Show all necessary working in the space provided.

2 LE T
S

1, What name Is given to the longest 4. Determine the height of a boy’s kite
side of a right-angled triangle? ‘ above the ground if he is holding the
{1 mark] - end of an 85 m length of string 1.2 m
above the ground. {Answerto 1
decimal place) [3 marks]

HEp—
-

2. Calculate the length of the unknown
side x in the trlangle below. (Answer
to 1 decimal place) [2 marks]

A

A 4

70m

18 cm

A

3. PFové witdtifer of ot the triangle
below is a rlght-angled triangle.
[2 marks]

18 cm

Page 3 of 6

+ T



— Name:‘

% Ay

———

Name;
o .. ..Classy .
- Classi — —
6. Calculate the 'area of the triangle 9, A rectangular park is to have two
below (1 mark] square Jonds ,%hmaizaf:gapfsig in it 2s P 12. Caleulate the volume of the solid
Show ’ - below [3 marks ’
covered with grass? -{Btmgr!@g]-@;_ e elovy [3 rks]
f +
2.2m B 28m N [
D v &mm
n
| | ST
14 m 4mm
H
: . . < 12mm
/ ; 8mm

. (
v L . (a) " Calculate the value of x te one ’{
N S : decimal place. [1 mark] \
7. How many square centimeters (cm?) L !
in 2.5 m’2 [1 mark] ‘460 T ‘\
|
\ |
;
(HY~"Calculate tHe total surface area of '
the prism. [3 marks] i {
8, Calculate the area of the - S - : i i
parallelegram below. [2 marks) - i :

10. Determine the volume of a : : * )

rectangular prism which has a length 5 Ea
of 1.5 m, a breadth of 0.9 m and a :
; height-ef 0.4 m. [1 marks] | :
’ {
{
o ; '
L
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MName;

13. Determine the volume of a cube with
sides of 2 ¢m. 2 marks]

14. A rectangular prism is to have a
volume (V) of 24m°. If the breadth
(bYis 3mand thelength{HIs 4 m
what must be the height (#)?

[1 mark]

15. A large swimming pool Is to be
constructed In the shape shown
belaw.

40m
——e———

20 m

50 m

\ .
Classi}__
!

(a} How many square metres of tiles will
be needed fo cover the bottom of the
pool? [2 marks]

(b) What wiil be the volume of the pool in
cubic metres if it is to have a unlform
gerpth of 1.8 m? {1 mark]

e

{c) How many iitres of water will be
needed to fill the pooi? [1 mark]
i
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Founded 1885

ASSESSMENT TASK 1

YEAR 8
MATHEMATICS

2006
55 MINUTES
50 AMarks

Namae: ZQ;&’\J AWJ

c1ass:8 M p( ”G'\QQA/V\GJ/\/

INSTRUCTIONS

There 2 Sections
Section 1 (Number) Is worth 20 marks

"Section 2 (Measurement) Is worth 30 marks
Approved calculators may be used in all parts of the test

Attempt alf questions - ]
Enter your name and class on each page

v

£t e

Name:Z@;)"\'\)

Class: M A "G@X\‘W\)_ .

SECTION 1 ~ NUMBER (20 marks)

Show all necessary workmg in-the space provided.

el g

1, Convert to decimals:

(a) 37% [1mark]
_:%70[["3 = O'%7
)
(b) 12%% [1mark]

12.5% = (0-1255 /

[imark]

M?Mﬁ% -

2. Convert to fractions:
(Answer in simplest form)

(a) 48% [imark]
UR%=68Y- 12
0¥ 25/

2 | [imark] ‘/

() 2029
L/ S
: 0g ~ ”JIOO \
(C) 32 15% [tmark]

%lg(\,_ /QT

3. Convert to percentages:

(a) 0.32 [1mark]
022~ 0
i
e
) % [1mark]
296 . AP
D052 pp /
(c) 2.35 [imark]

9357 Q36%

/

i

4, Decrease $450 by 30% {1 mark]

(o=leo)r4so

= 218

5, What percentage Is 42 kg of 48 kg?
[1 mark]

0 ( Lyz—»b(%) ¥100

/

7%’7-6’0' /

00~ 900

A



5. Rewrite the following three values in
ascending order (smallest to biggdest):
{1 mark]

722 7L,

7520/ 0. 723 4

Q, (17%5
@ 75501,
_ O%O"iﬂ rv/

6. The following table shows the
breakdown of students in a middle
school consisting of 200 students:

Girls 34 32 30 q%
) ‘. 3
e’ ©wld &% QEE

(a) What percentage of the middle

j‘%h-tal/skudents are boys? [2 marks)
l@é‘ 5’95‘10

.. 3 _—

(b} What percentage of the fniddle schogl
are Year 8 students? [2 marks)

080108 200,
FROE ) yavd

Name: 7,()\;;’0
Class: %Mb\ -~ EV’Q&W}N

7. Sean scored 15% of his team’s runs
in & cricket match. If he scored 45
runs how many runs did the team
score?.(2 marks],

t5+1%=: 3
e
2 x100% Mo

(j:}’).';qgh géoéym

£7

Martin hought a car which cost
$5000. After doing some work on the
car he then sold it for $6125. What
was Martin's profit as a percentage of
the cost price? {2 marks]

(LI2B+HO00)* 100
SRR 5%‘&

. _His  proft 1%@%)

Jﬁ‘rmm% codprits-
wan 98B o7,

-/
e

RN L

Hyponezt

P

Name: ZQM\)
Class:%(\fl?b\ ".'F fmmm

SECTION 2 - MEASUREMENT (30 marks)

Show aII necessary working in the space provided.

ey

1. What name Is given to the longest
side of a right-angled triangle?
[1 mark]

2. Calculate the fength of the unknown
side x in the triangle below, (Answar
to 1 decimal place) [2 marks]

i8cm

3{“ F7
ToVE W e rﬁﬁg‘t/}he triangfe

below is a raght—angled triangle.
[2 marks]

S i18cem

24 cm

(HHR) =0T

[R&= A% = 9400
PH = 2474187
b 34

IHS;;Q%/ -

4.

Determine the height of a boy's kite
above the ground if he is holding the
end of an 85 m length of string 1.2 m
above the ground. {(Answer to t
decimal place) [3 marks]

o}/&%b?— :

P TR b

7257 DOV
b 123 - 4900

e 2228

E, {27208 .
b= 4%-2m

Heiakh_olnowe. Qound, s
Webtl Y
= Y212
=49.4m

S The, Rike 4g
W84, oboue

1A 9

&



6. Calculate the area of the triangle
below [1 mark]

4.5m

Lo
(@A =L x 2234 -S

IYL}S /

SEAS

7. How many square centimeters (cmz)

in 2.5 m*? [1 mark] GL@ X

f@r%@ A5 00en?

in_ S

V]

8. Calculate the area of the
parallelogram below. [2 marks]
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Name:?g_yb/o
Class: g MA? W

8. A rectangular park is to have two
sguare ponds (2Zmx2m) placed in it as
shown belowWhat area is left to be
covered with grass? [3 marks]:.

28 m

14m[ =

A=A, (Af)*’ }‘

U@i}(%ﬂlﬂ L2y~
= 3a0 - wa

=392.-%

= 3%Gm*

L A% 1l remain

COND
8

10. Determine the volume of a
rectangular prism which has a length
of 1.5 m, a breadth of 0.9 m and a
he,:ghtﬁfo 4 m. [1 marks]

\f,,
‘/ “16?6@@%0)4 A
= 0 S4wfc X

A\
f@fs

‘{\4

)E)

Croes 5850 )

{a) Calculate the value of x to one
decimal pface. [1 mark]

{ 2=aPa B

Y2522+ g2 -
x? 4 +3-28 "

< 724 (1/
X = Via2e

- .
(!gf"céﬂculate MOtal surface area of
the prism. [3 marks]

; (,J,m
L
foase« A<k (b
"Q,Q"%;/
~c g
Ndo = P\'%lila g

= QX2

2 b i
Dide =AAL/
n12¥22/@

39
S4A Crosg Woﬂ"“

~1

Name: M ?
Class: % M A :'“?Y' W@/\W

12. Calculate the volume of the sofid
below low [3 marks]

= 2%—4—32_ .
N \ 1

A BderSda Y Res r/m



RESRCI ¥ B

13. Determine the volume of 3 cube with
sides of 2 cm. [2 marks]

1602
14. A rectangular prism is to have a
volume (V) of 24m3, I the breadth
(B} 1s 3 m and the length (/) is 4 m
what must be the height (#)?
[ mark]

VZ1K8y
Lo 2345\
02 h=724 =2
#

15. Alarge swimming pool ISto be
constructed in the shape shown
below, '

Name: .

L e S A T

(8) How many square metres of tiles will
be needed to cover the bottom of the
_pool? [2 marks)

.- A=Dlady —
=3
=* x50 40)

= 10xQ0

“Q00m® v

(b) What wiil be the volume of the pool in
cubic metres if It is to have a uniform
depth of 1.8 m? (1 mark}

V=AW
=Q o0 xR
__Flenw? /

{c) How many litres of water will be
needed to fill the pool? [ mark]

] 69@,__ K len®a ot

E x 1000cH = 14,

F & 7
fm = (0 cm

2 fO00L

.y 2047

= /820X /CJ”/.

&
s L E2x10 L




